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St Thomas Aquinas High School Mr. N. Cune
7.2 Multiplying Polynomials by Monomials

1. Use the distributive property to expand each expression.

a) (4x + 1)(2x) b) (—x)(x + 4)
Qo™+ Aoc - -4
¢) (2x)(3x—1) d) (2x)(3x—1)
ot — e x>~ 2=

2. Use the distributive property to expand cach expression.

a) (Sm)(2m + 3) b) (=n)(n+ 1) ¢) (1.3x)(2x - 5)

IoM* + 1S —n’“— N ‘a-(oDL_-L — 5>
d) (-=m+ 2)(3m) e) (4.1k - 5.3)(-3k)

- et 4l 2.2 41591

3. Which of the equations best shows the use of the distributive property?
A 3(4x +2x) = 3(6x) B 5(2 -3x)=5(-3x +2)

C2(x+4)=(x+4)2 CBXCr-7) =0+ AT
4. Sergio wanted to determine 5x(7x — 2). His solution is shown below.

(5x)(7x) + (5x)(=2) Step 1 S (A2 - 1\
= (5)(7x)x) +(5)(—2)(- @b S>> — Q.LQOA
= 35x"— 10(-2x) Step 3
35¢ + 20x CStep D z3sx* —l0x
Sergio discovered an error in his solution. In which step did Sergio make the error? Show the correct
solution.
5. Multiply.
a) (4m+ 1)3m)= b) (2x — 3)(—4x)= c) (4.2n)(2n—-T)=
2> 30m — ot 4\ L dnr —329-9n
2 - -4 -
d)(§m+4](-9m)- e)[?x](GX—IZ)—
-8 AT - —2doc® | 4o
3 = =
= —(m* - 8om = -]’ % o>

4. The length of a cement pad on a playground is 3 m longer than the width. The width is Sx m.

a) Write an expression for the area of the cement pad.
- — T
f= 5x(8x43) = 28>y 15 l \S= 52 o

b) If x = 2 m, what is the area of the cement pad? Sac4 3
S()+3
A = \O ¢ (3) 13
=130 m"”
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